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Question Number : 1 Question Id : 70819118124 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819159521, Both A and R are correct and R is the correct explanation of A

70819159522, Both A and R are correct but R is NOT the correct r_-xplanation of A

70819159523. A is correct but R is not correct

70819159524,

A is not correct but R is correct

Question Number : 1 Question Id : 70819118124 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el S fagr faerel smed. Fiied faur A &1t dro R ¥ faerel o,
fgM A : A9 B & U9 4 97 URGEM 8. U0 A 9 B J 96HH THENE T,
SRU R : T B T IgAE IE eR GREE 39 Te MR, = MyR,.

Options :
70819159521 AT R a4 GYEY Aed d R & A o IFg WEIHI0 e,

20819159522, A @ R S X6 3&d 90T R € A d I7g HECI[HI0] AlEl.

20819159503, A TXIEX M€ TUT R SRTEX el

70819159524, = L e,

Question Number : 2 Question Id : 70819118125 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :
List - 1 List - 11
i)y [MLT Y
i) [MLEAT T
iii) [ML2ZT 2
iv) [ML211T 9

Choose the correct answer from the options given below :

(a) h (Planck’s constant)
(b) E (kinetic energy)
(c) 'V (electric potential)

(
(
(
(

(d) P (linear momentum)

Options :
70819159525, (@) — (i), (b) — (i), (c) — (iv), (d) — (iii)

70819159526, (@) — (i), (b) = (iv), () — (ii), (d) — ()
70819159527, (@ — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819159528, (@) — (iii), (b) — (i), (c) — (iv), (d) — (i)



Question Number : 2 Question Id : 70819118125 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gleflel WS osl.
A - 1 AT - 11
(a) h (ei@a ReRi®) i) [MLT™1
(b) E (el Sowl) (i) [ML2T-Y
(c) V (fagga fawa) (i) [ML2T-2
(d) P (@ Ham) (iv) [ML21-1T-3
el faetedn waiiqE ara oo fae
Options :

70819159525, (a)-11), [13_]-[11_], (C)-1v), [d_]-[m_]

20819159527, (@) (i), (b)-(iii), (c)-(iv), (d)-(i)

20819159528, @), (B)-(11), (€)-{1v), (d)-(1)

Question Number : 3 Question Id : 70819118126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

i )
70819159529, 16 m/s

70819159530, T ms Z



70819159531, I8 ms™ <

'3 g
70819159532, 27 ms =

Question Number : 3 Question Id : 70819118126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WX M AT g e Serl dlads Bld 2 s A, WIRl Sl 99d a9 S8 a9

Options :

2
70819159529, 0 m/s

2 =
70819159530, ™ S

70819159531, -8 ms

70819159532, 2> ms™ 2

Question Number : 4 Question Id : 70819118127 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options :

70819159533, L 0-0 €M

70819159534, 184 cm



70819159535, 148 cm

70819159536, 1> €M

Question Number : 4 Question Id : 70819118127 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS faendi RS JoEr W ST A, Fordl A 6 cm B, FIGdICI™l dNaNdl 504 Hz
8. feeted TUAMN @ 97 336 m/s 8. W] o T HieY S I ol

Options:

70819159533, [0-0 M

70819159534, 1 0-F €M

1458 cm
70819159535,

70819159536, 1 M

Question Number : 5 Question Id : 70819118128 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e I I I T e
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
H C
G D
F E
Options :
.f:-_ _/.: r} .-_,:.
70819159537, 101124 j+32k
70819159538, ~1671 24 j+32k
70819159539, 16124 j+32k
. -‘: j- _/.:_ ':J -/T
70819159540, 101 +247 32k

Question Number : 5 Question Id : 70819118128 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=3 =3 = sk od of B

ABCDEFGH &1 JeHM 1 WRET fed, AB+AC+AD+ AE + AF+AG + AH &

=3 A A A
809 ot o, O% AO=2i+3j-4k &,

Options :



16 +24 j+32k

70819159537.
_; f-\_z_’ .’-: 1"2 .f-:
70819159538, 10124 +32k
167 —24 j+32k
70819159539, 101 24/ +32k

. .’Iw-. .-’~._ '}’z
70819159540, 1011 24) 32k

Question Number : 6 Question Id : 70819118129 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are revolving round the earth at height
of 600 km and 1600 km respectively.

If T_,gi and TB are the time permds of Aand B respectivel}-' then the value of TB—TA ’

[ Given : radius of earth=6400 km, mass of earth=6x 10 kg |
Options:

3
70819159541, 133> 107 s

y ; 3
70819159542, +24x 107 s

)
70819159543, +:24x 107 s

2
70819159544, 3-33 X107 s



Question Number : 6 Question Id : 70819118129 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 9 B & <M IIE IFH 200 kg T 400 kg TRIAM 39T o JeAI4TaT FFHH 600 km T 1600 km
IR gUA HIA .

WT,TITy e APIATB I PGS Bl A W (T-Ty W@ @
(fer e - Rl o= 6400 km, T8 TREAH=6x 102 kg)

Options:

33 3
70819159547, 1+ X< 107

2 3
70819159542, —=+ X107 s

424x10% s
70819159543.

3.33%x10% s
70819159544.

Question Number : 7 Question Id : 70819118130 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819159545, ~ U2 A
70819159546, ~ 043 A
70819159547, ~ 086 A
70819159548, ~ 12 A

Question Number : 7 Question Id : 70819118130 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X @Y fgas U 5V §edl Wisetell §E. D, 9 D, & WA feildid SRIre AMl. WY dedid
g 2% X fgel Sieet T 9edi [Raal il 9N Fial.

Dy 100
";;]I AN
[~ M

X Y

Options :



el | S8

70819159545,
70819150546, V4% A
70819159547, ~ 86 A
70819159548, 12 4

Question Number : 8 Question Id : 70819118131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement Il : The side band froquoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options:
70819159549. Both Statement I and Statement 11 are true

70819159550. Both Statement | and Statement 1l are false

70819159551 . Statement 1 is true but Statement 1I is false

70819159552. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819118131 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el 3 faur fierel amed.

fam1: 1 MHz 9 3RS obd AYRGIT HYUare! 2 kHz 91 a1 Hebd dIu¥ell. eberre!
4 kHz 91 dehe] A

faem 11 = oo 9S8 aRaRar 1002 kHz 9 998 kHz 3@

Tel fqemiEeHT, Sl feeed WiEigs arg i fae.

Options :
70819159549. A L e ‘
70819159550. e 1 9 18T 1< g 3iTed.

70819159551, 199 | SREX 8 91 f9e 11 9% 31me.

fag 1 g 3 qur faer 11 ey 318,
70819159552,

Question Number : 9 Question Id : 70819118132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819159553 Both A and R are true and R is the correct explanation of A

20819159554. Both A and R are true but R is NOT the correct explanation of A

70819159555. A is true but R is [alse

70819159556. A is false but R is true



Question Number : 9 Question Id : 70819118132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aTell aF fagr faerel amed. fftEa faum A onft Rv R o™ fSeme o,
faum A : S a9 uSeren il afden, @ Shftos yftee TR A @
PHRUT R : TUMEA 391, S<dEl A died.

adlel fagmidgwd, @l fSeled Taiaiqd drg S fHael.

Options :

20819159553, AT RS S Aed d R € A d IFg WEEIHIU S,

20819159554, Ad R S @Y AEd U0 R € A d UFY WCIH0 I8l

20819159555 AEY 3B qUl R Eic AE.

AEIC 3 U0 R 97 36
70819159556.

Question Number : 10 Question Id : 70819118133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= = respectively for the given circuit is :

51 510
M
10 40
— LR
L
Options :
18E S5E
55 " 18

70819159557.



'5_1;' 18E
70819159558, 18 35

106 5E

70819159559, - 18

5E 10E

70819159560, 18 33

Question Number : 10 Question Id : 70819118133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fooiear ORUY &Ted t=0 9 t=o FFIAET YR (i) DIl

Options :
18E S5E
o5 18
70819159557.
& 18E

70819159558, 18~ 55

10E SE

70819159559, -- 18

70819159560.



S5E 10E
18" 33

Question Number : 11 Question Id : 70819118134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly

visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :

70819159561, 1-64 mm

70819159562, 0-90 mm

70819159563, U-82 mm

70819159564, 180 mm

Question Number : 11 Question Id : 70819118134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& YA WRAM 1 mm 312 9 T IgaidR AU0id 100 91 Sed. W@l 9l A Slaa odelel
T8, agaIbR AviEl I HaH Y § A et 2. Wel Wl 98 AN Sdell del Uleedl Y
U M w28 fGwal T Hed WeReY ag@eR Suiidie 72 Y1 Guidl B, i B
mm ¥ 3R

Options :

1.64 mm
70819159561.

L
70819159562. 0.90) mm



70819159563, U-82 mm

70819159564.1¢H3nun

Question Number : 12 Question Id : 70819118135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ana particle and a proton are accelerated from rest by a potential difference of 200 V. After
A

: : { : iR
tMmﬂmHde&ﬂgmwmmm%msmeMamjﬁgmpxmmWJ%emﬂof—m:
i3

Options :

I3
s

70819159565.

oo

70819159566.

|
o

70819159567.

70819159568.

Question Number : 12 Question Id : 70819118135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a-B g Yo RRduRT 200 V fdwdiok @RV det. AFAY @iwdn S-arilell aYers

A
PN, TN, e L AR 9

"\‘[1
Options :

70819159565, =



70819159566,

70819159567, *

3.8
70819159568.

Question Number : 13 Question Id : 70819118136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two coherent light sources having intensity in the ratio 2x produce an interference pattern.

Im:n Imjn

The ratio will be :

max i min

Options :

70819159569, =X 1

70819159570, <X *1

W 2x

70819159571, *+1

e
2+2x

70819159572, X1

Question Number : 13 Question Id : 70819118136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



S Wi T Sl digdd U 2 3R O AAeR Uiy TR YA,

o~ b _ .
Options :
V2
2x+1
70819159569.
2V2x

70819159570, 2**1

RN
70819159571, * 1

2.2x
70819159572, * !

Question Number : 14 Question Id : 70819118137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options :
U+

70819159573.

0=

70819159574, 2

|
70819159575. \




[ 2 2
[0 —u

2

|
70819159576. \

Question Number : 14 Question Id : 70819118137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
HFFTER S THEHH TRUM oM 3T o Wohd [SPOMIRT u 7 S 9 ¥dear 24
o I WM. HFFTEE AEAfdy W fSPOIUND WAMmn g . 3R

Options :

.H. O
2
70819159573, <

0—u

I3

70819159574,

[ A
[~ +u-

V2

70819159575.

70819159576.

Question Number : 15 Question Id : 70819118138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A proton, a deuteron and an a particle are moving with same momentum in a uniform
_ and their speed is

magnetic field. The ratio of magnetic forces acting on them is _

~, in the ratio.

Options :



.
(%]

70819159577. » Langd: X v 1270

1 and 4 :

I

=
rJ
=

70819159578, 2

I~

:dand1:1:

=i
]

70819159579.

4dand 2:1:1

=i
=]

70819159580.

Question Number : 15 Question Id : 70819118138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YT, SYCXF @ oV & THUHH Jeo &7 AREIE |a T ded.  feiedn HAm,

Y A P g PORR . FE I I T PRR 3R,
Options:
P Ly I 5
70819159577, *r=ild2:1:d
I . P
70819159578, - - L 1 a4 221
1:2:491:1:2
70819159579,
PR Ly a
70819159580, [ 2 rd2:1:

Question Number : 16 Question Id : 70819118139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :



70819159581, 01 m

70819159582, V19 m

70819159583, U-2 m

70819159584, 1.0 m

Question Number : 16 Question Id : 70819118139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TJOBN Focredl HEURE &R 0.05 m 3 0.2 m HRR 39 gwnde Jaar &= oiRe
8:1 3. peairdl BoOr 3@

Options :

70819159581, V1 ™

:l E
70819159582, V10 ™

0.2 m
70819159583.

70819159584, 1V M

Question Number : 17 Question Id : 70819118140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=6011
e AMVAAAAANA

15V

C=—=10V L Lg20V

o— 1L

Options :

70819159585, 1-33 H and 250 uF

70819159586, 1-33 H and 150 uF

70819159587, -8 H and 150 uF

2 5
70819159588, -8 T and 250 uF

Question Number : 17 Question Id : 70819118140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L-C-R URUYT TEdl gRE S aRaRal 100 rad/s 3. HaN UGN 9o
Wiieelel A, Pearal URTA 9 HHNART &Radl I oI el

R=600
———AVAAAMAA

15V
c—=1oy R0 8y

— 1

Options :

33 H g 250 uF
70819159585, 1> 11 @ 250 uF



70819159586, -3 H @ 150 uF

70819159587, U8 H @150 uk

70819159588, V-8 H @250 uk

Question Number : 18 Question Id : 70819118141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) ) ) i . .
A diatomic gas, having Cp =;R and Cy =;R, is heated at constant pressure. The ratio

dU:dQ:dW:

Options:

|
]

70819159589, 2:

70819159590.

70819159591,

e |
(o5

70819159592, 2 :

Question Number : 18 Question Id : 70819118141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i B e :
feaifas arg wurn cp="5R 3 Cy=>R a1 e e AUt dU - dQ: dW I TR
CIES
Options:

70819159589, ° 7 2



G LA B

I

70819159590.

70819159591, -2 : 2

5:7:3
70819159592, ~

Question Number : 19 Question Id : 70819118142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have N I and I\I2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio % will be equal lo:
2

Options:

|—-|,...1

70819159593.

70819159594, 3

70819159595.

70819159596, 8

Question Number : 19 Question Id : 70819118142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X dY & S TX0iaR) TS1gieme] godrdl dud dHd N, 9 N, ed. X 91 JugHe Y
o JEgHIE FE A, Y A A SegE@E, I dadbih Ge qRE I, Iy

N
9IRR e

Options :

n—alL.-J'

70819159593.

| =

70819159594.

= | o

70819159595.

'JC:-||-2'

70819159596.

Question Number : 20 Question Id : 70819118143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphere of radius R gravitationally attracts a particle placed at 3R from its centre with

a force F,. Now a spherical cavity of radius [ \W is made in the sphere (as shown in figure)

L

and the force becomes Fz- The value of Fl : F2 ig

\“:\.ﬁq}m 0

“."'\\{" '\":c:\'h :‘ ,
.\ MH‘,;:; \

Options :

70819159597, *1 190



70819159508, 0 * 41

70819159599, 26 : 25

70819159600, = °

Question Number : 20 Question Id : 70819118143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R Preren wig e F, 9ol e HEUR 3R HARTE Saerell BV TomIGuu g Ul
(R)
I [E,J Brord Tl R (ST SREReaIA) TUR et @ e |, &, F:F, ¥ qed

\

Options :

70819159597, 7V

70819159508, ! © *1

G w95
70819159599, 0

70819159600.



Physics Section B

Section Id : 708191749
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911029
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118144 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
R=vas constant) is —. Value of x is 3
R=g [Bip i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118144 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



U1 faviarel AiSad 4.0 u IRGANEl Thdfiad a1 Saell 6. & 4i$ 30 m/s S T 2
X

e m%maﬁaﬁma@wwmﬁawﬁ #1e (R=9 ferid). x 9 98
.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118145 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of thisdropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118145 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0

TR 512 VhARY 99 Yo 2V fawar gaIika Fel. el Ue 49 TR el 39 fowe.
e fewe . @ e

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118146 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118146 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

V=3t @Iec (L Hald 3M1e) 3¥eicdl JYdel STM™ 2 H YR 3ifeiel 9 10 VY 3¥etel P
e, W@l 1= A WM @lecd @del 1% 4 VSO peeld Qe Sl

W e,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 24 Question Id : 70819118147 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest positionis __ m/s. (Take g=10 m/ 53]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819118147 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
| m i SN SR Va1 Sord U ofer i ditleicll 36 d o I aqoidN 30l 9ui
Sl D1 SNICel H&TH 9 ofgTH a0 I UIR 5 1 318, Head feerdid Medrar 97
_m/s 3E. (T : g=10 m/s?)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118148 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as
L

rlﬂ l_El

where, a and § are positive constants. The equilibrium distance between two atoms will be

d

[Eu' b
—| , where a=__

4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118148 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

, i : . el ool B
fgaifiad Yo e ol (U) &/ r (Siqeeiiidd 3faR) a¥ sideiqd Bel Ll:rﬁ £-3 3™

1,Eu

d

%, S o 3 p & o Rei AT aﬁwﬂﬁ&ﬂawm[%g . R =

L 4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118149 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



— f k) A A » i
The electric field in aregion is given by E = | —E; i+ i Eyj % The ratio of flux of reported
] o )

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m?2 (parallel to x—z plane) is a:b, wherea=___

[Here ; ] I and L are unit vectors along x, y and z-axes respectively|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819118149 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
._} I !r A —l _z...\l N
T W e 4w L= | cEoits Boj | o Rl o, TR S 4 St
\ ¥y
02 m? (y—z Yded FAIGY) AP TSUFHYH, 03 m? (x—z TOae FHiae) &
PIsRIE GRICEG| TR a:b e, T a=
(3T 7, j Tk & o0 AT FIHY 1, y T 2 FEE 1)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118150 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in

the resonant circuit. The self inductance of coil necessary for resonance is
x10~%H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118150 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TR ®IHE 960 m TRIeliad a7 6ied. 9&al URUIM 2.56 uF 9 §9= dmve.
YHSTHE! AEvS ool Peardl wWaUNaa  x1078H e

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118151 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis ___ cm.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118151 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

il I PR 20 cm a1 10 cm & el O) Sl RIS AREAE STBRmEA HiaH
TR 36, e I T i om 9

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118152 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV?,
The work done when the temperature changes from 100°C to 300°C willbe _____ nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118152 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

o1 fafdree SRTe Tichdd, a1 219 SMARAMEY kV3 341 Jaeigd 318, Wil duaH 100°C
URET 300°C Udd 9aeid ol dofel 1 nR 3. 99 n IR0 SUE €S 18,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118153 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is

larger than E, and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at

point |, so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced

by second battery (E,) for working by making K, open and K, closed. The galvanometer
a

gives then null deflection at ]2. The value of L—l is E ,where a=
2

=
T
2
-
|

Be Im »

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118153 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

feetean fayaard=an URUg, AB (il 10 m) A E € fa¥aiey £, 9 E, V&1 O 8. 39 K
WIS (43), Wil GNaY |, figqav o1 cohdanl &1 ewmmicy Hed faguur B . S BRI
PYUINIC! Ufeedl 9l (E,) Wisell 9 §e¥1 (E,) Weell, K, Sugd 9 K, 48 o Te@HMiey

J, 3 ¥ R R t_l b & ot fad o
=2

[ :
l—0) G
| I'E, * K,
E ot
e kK A I
A
£ I I
|
|
Rh Jgf—ﬁﬂfm—}l :
L
B:i 1m >

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Chemistry Section A
Section Id : 708191750
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911030
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819159611, (&)

70819159612, (P)

70819159613, (©)



70819159614, (D)

Question Number : 31 Question Id : 70819118154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BAGIGH SR 4Tl BiEHIEe! N fIa TNGed deid v B faeg @l
feretel 3med.

(A) 8r




Options :

70819159611, (&)

70819159612, (B
70819159613,

70819159614.

Question Number : 32 Question Id : 70819118155 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819159615.

70819159616, | 1c2

70819159617, 22

Hesy'
70819159618,

Question Number : 32 Question Id : 70819118155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
XV], BiEp1 MEAaR @elleid®dl SRl 3o 8.

Options :

Oy”
70819159615.



70819159616, |12

70819159617, B2

He,"
70819159618,

Question Number : 33 Question Id : 70819118156 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 is x. The value of x is :
[Assume : No cyano complex is formed ; I(HP(AgC N)=22x10"1¢ and K,(HCN) =6.2x10 0]

Options :

70819159619, 0-625x107°

B 6
70819159620, 1-6 <10

16
70819159621, 22X 107

e ]
70819159622, 1-9 % 10

Question Number : 33 Question Id : 70819118156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=3 3¥feicdl o1 SHIXIEN MUkl AgCN <1 STauigdl x 3. x 4 fag _
e,

(§AST - A DIV Wice TaR Hlelel 4.
(K, (AgCN)=2.2x10-16 fer K (HCN)=62x10-10)

.‘i}l

Options :



) f
70819159619, 0625 %10

70819159620, 1.6x10°°

70819159621, 2-2x 10710

\ 5
70819159622, 1-9 %10

Question Number : 34 Question Id : 70819118157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption li is

m

directly proportional to P'*. The value of x is :
Options :

70819159623, 1

70819159624, “€T°

70819159625.

70819159626.

Question Number : 34 Question Id : 70819118157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WWWqWW,WW[iJ g P o W& YHIUI e,

m



Options :

70819159623, 1

70819159624, &4

70819159625. ~

‘1

70819159626.

Question Number : 35 Question Id : 70819118158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819159627, AG vs T

70819159628, AH vs T

70819159629, AG vs P

70819159630.

Question Number : 35 Question Id : 70819118158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ofei e fa & derEd gEifdd,
Options :

70819159627, 4G P& T



70819159628, AH [@o& T
70819159629, G TA¥E P

70819159630, (AG~TAS) 0% T

Question Number : 36 Question Id : 70819118159 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following equation depicts the oxidizing nature of H,O, ?
Options :

70819159631, KIO4 + H,0, = KIO; +H,0+ 0,

2 i )
70819159632, | BATRE SR Sx AT+ Lk Y

y
70819159633, 2 tH 0, +2HT — 1, +2H,0

= 2
70819159634, Cl2t 1202 — 2HA 10,

Question Number : 36 Question Id : 70819118159 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GlellcAu®! DIV FHH0 H,0, 91 SifeaSiaoRedl geifad ?

Options :

70819159631, KOy +HO, = KIO; +HLO+0,

A ¥ ~
70819159632, 127 H20; +20H™ — 27 +2H,0 40,



t
70819150633, 2 TH0p +2HT — 1, + 2H,0

- 2
70819159634, 2t H20, = 2HA O,

Question Number : 37 Question Id : 70819118160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B,Hg is :
Options :
70819159635. All B—H-B angles are of 120°,

70819159636. The two B—H—B bonds are not of same length.
70819159637. Terminal B—H bonds have less p-character when compared to bridging bonds.

70819159638. Its fragll‘an BH3 , behaves as a Lewis base.

Question Number : 37 Question Id : 70819118160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
20819159635, ¥4 B—H—B @9 120° ¥ 3rea.

20819159636, &1 B—H—B 9 ¥R @idrd e,

20819159637 JACHAI &I B—H dHHE Sidt p 9 01 Wy SHE BH e



. U ]
20819159638, BH, (B,H, @1 @) 7ifdd 3feh O[T B Hdl.

Question Number : 38 Question Id : 70819118161 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  CeO, can be used for oxidation of aldehydes and ketones.
Statement II  : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819159639. Both Statement I and Statement 11 are true

70819159640. Both Statement I and Statement Il are false

70819159641 Statement 1 is true but Statement 1l is false

70819159642. Statement 1 is false but Statement 1l is true

Question Number : 38 Question Id : 70819118161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@refl & faar fdered amed.

faam1 :  ocSEgey aftr e AfeasiarumEE CeO, MUl Adl.
faum= 11 : EuSO, I el Evl 2 widween &uule 32,

e AaHgER, @il igiEgd a¥e) 9gig faer.

Options :

70819159639. Sra fagr 1 anfor 11 s_EY 3fmed.

70819159640, Srel faer 1 nfor 11 g 3med.



70819159641 a9 1 S¥EY 3 Wy faum 1 g@ .

2081915964, 1381 1 JHIA 36 WY @€ 11 SRR e,

Question Number : 39 Question Id : 70819118162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options:

70819159643, V>* and Cr'

70819159644, Cr' and Mn*"

70819159645, Ni*" and Cu’

. ~ 4
70819159646, fe~ and Co

Question Number : 39 Question Id : 70819118162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
EleAlciUs] DIVl WISNFe] Hdid dediel Seidnil Houtl 9NE 3¥d 7
Options :
72+ amfor Crt
70819159643, =

70819159644, Cr* 30T Mn**

2 4 —~_ 4
70819159645, Ni~* ST Cu



3 e
70819159646, Fe” " @1 Co*

Question Number : 40 Question Id : 70819118163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [I\;In{CI\IJ&]4 and [FD{CI\I){-]]3 , respectively are :
Options :

20819159647, @-sp” and paramagnetic

70819159648 sp’d® and diamagnetic

70819159649 dzﬁfﬁ and diamagnetic

392 e s
70819159650, 5P ¢~ and paramagnetic

Question Number : 40 Question Id : 70819118163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Mn(CN)J*~ 31 [Fe(CN)J3~ &id SFH HPX01 4 oo YR 3.

Options :
2 nn S 3;|-|ﬁ-|' r
70819159647, P YD

. :
70819159648, P & 3 TG

2 3 3;|'|fﬂ'[ r
70819159649, © T



spPd2 i1 FHgE D

70819159650.

Question Number : 41 Question Id : 70819118164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819159651 Both Statement | and Statement Il are true

70819159652. Both Statement I and Statement 11 are false

70819159653. Statement 1 is true but Statement 1l is false

70819159654. Statement 1 is false but Statement 11 is true

Question Number : 41 Question Id : 70819118164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el F faar foerel e,
15131 1 RS 2 1 O el O s 7 e L s ) 2 e 3

M 11 : TURSIR A TEEH 3 Wby AdEeTd a1 YSRREHHS W TR
BIVATEIS] #ad B

el [AEHITER, Shellel TEIEMET W) FoeE @il g,

Options :

70819159651 Glval fagm 1 anfor 11 s9EY 3fred.



20819159652, el fagr 1 anfor 11 garEr 3med.

70819159653, 198 1 SRIAR 38 WYY faer 11 gord 3.

20819159654, 1381 1 FPII & WY &M 1 TR e,

Question Number : 42 Question Id : 70819118165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H O,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819159655, 20-33
70819159656, 93.33
70819159657, ©3.53

70819159658, 21-63

Question Number : 42 Question Id : 70819118165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I S el 1.80 I7 P ¥ (C,H,0,) WU Sder Pl 3l 2.64 I CO,
T 1.08 9 HO TR el S WGl gl depel FA e,

Options:

70819159655, 20-33



70819159656, 23.33

70819159657, 63.53

70819159658, 21.63

Question Number : 43 Question Id : 70819118166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[dentify A in the given chemical reaction.

/CH3
B Mo,O o
2 CH, 203 - A
L - ~ 7 773K, 10-20 atm major product
113
\\“CHZ/ M\‘CH;
Options:

70819159659.

70819159660.

q
o
o4

70819159662.

Question Number : 43 Question Id : 70819118166 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
footear vAAS SfHfhaa A e

_-CHj
CH Mo,04 o
* CH, st _—
CH ﬂ] 1_/" 773 K, 10-20 atm TqE IS
g C
~M‘"EH;'K ‘\\{:Hs
Options:
70819159659. :
: CH,
70819159660.
70819159661. :
: .CHj,
70819159662.

Question Number : 44 Question Id : 70819118167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identﬂ'}f A and B in the chemical reaction.

OCH,

— 2 > [A] Nal o pp
(major) dry acetone (major)

NO,




Options :

OCH;4 I
Cl Cl
r'*'h = H =

70819159663, NO, R
OCH; OCH;,4
Cl I
A= B =
NO, NO,
70819159664.
OCHj, I
A= B=
Cl )
NO, NO,
70819159665. “
OCH,4 OCHj;
)
.III*\. = B =
Cl
70819159666. e Dl

Question Number : 44 Question Id : 70819118167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Elellel YEAfHe fafeddia A fir B 3iadr.

OCH,4
HCl (A] Nal -
(@ 3eare)  FAsie e
NO,
Options:
OCHj, I
Cl Cl
r'*'h = H =
I NO
70819159663. NG 5
OCH;, OCH,4
Cl I
A= B =
NO, NO,
70819159664.
OCH,4 l
A= B =
Cl Cl
NO, NO,
70819159665. “
OCH,4 OCHj,

Cl
;'A'L = B —
Cl
NO, NO,

70819159666.

Question Number : 45 Question Id : 70819118168 Question Type

Is Question Mandatory : No

: MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) HyO+, A
_ 2) SOCI,
CH;CH,CN > ?
3) Pd/BaSO,, H,

Options:

70819159667. S el e

70819159668, (CHaCH,C0),0

708191596609. R

70819159670, “HaCHCHO

Question Number : 45 Question Id : 70819118168 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el I9a-e  dfHfhddel vgE Sde aTe.

1) H;O*, A

2) SOCl,
CH;CH,CN > 7
| 3) Pd/BasO,, H,

Options :

70819159667. S Sl S

70819159668, (CHaCH,C0),0

70819159669, 1 aCH2CHs

70819159670, “HaCHCHO

: MCQ Option Shuffling : Yes



Question Number : 46 Question Id : 70819118169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following reactions will not form acetaldehyde 7
Options :

Pd(11)/ Cu(I)
H,0

CH2: CHE + DE
70819159671.

i CrDE._IIZSD-:}
CH,CH,OH >

70819159672.

i) DIBAL-H
CH;CN —
ii) H,O

70819159673.

—

u
’ 573 K
70819159674.

Question Number : 46 Question Id : 70819118169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Glelicdd] DIl ATHHIURE AfcIesaEs TaR BUR &l ?
Options:

Pd(11)/ Cu(II)
H,0

CH2: CH: + 02
70819159671.

P CI’DB—ITEE‘ID;}
CH,CH,OH >

70819159672.

i) DIBAL-H
CH;CN —
ii) H,O

70819159673.




u
CH@'CHE{JH W
70819159674. o

Question Number : 47 Question Id : 70819118170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NH, COOH OH
NO, NO,
NH, NH,

OH NO,
Options :
70819159675, ‘* and B only
70819159676, = O™
70819159677, © and Conly

70819159678, Bonly

Question Number : 47 Question Id : 70819118170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HifeTH TE@EHC SEUIERIEY Fle SUsladEe gieY Wiedie ol WM &

NH, COOH

OH
NO, NO,
A= B= (=
NH, NH,
NO,

OH

Options :
70819159675, A ST B Had

70819159676. & PT

70819159677, B 30T C e

70819159678, B P90

Question Number : 48 Question Id : 70819118171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
. i) Sn/HCI
i) HNO,
iii) Aniline
NO,
" i) NaBH,
B ii) NaOH
iii) Aniline
NH,
c i) HNO,
- i) Aniline, HCI
Options :

70819159679, “* only



70819159680, = ™Y

B only
70819159681. i

70819159682, »and B

Question Number : 48 Question Id : 70819118171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Geflciud] DIV BTVl JfHfhal p-AI-sE dfsq SUR A&/ ed 7

NO,
i i) Sn/HCl
i) HNO,
iii) 37
NO,
. i) NaBH,
- ii) NaOH
iii) et
NH,
5, i) HFDE _
ii) 37fef=, HCl
Options :

70819159679, Pad A

70819159680, Pa4 C

70819159681, P09 B

70819159682, A ST B



Question Number : 49 Question Id : 70819118172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :

70819159683. Buna-N is a natural polymer.

70819159684. Buna-Sis a 5}-'11the’ric and linear Lhc-rnmsetting pnI}-'mer.

20819159685, Neoprene is an addition copolymer used in plastic bucket manufacturing.

20819159686. Synthesis of Buna-S needs nascent oxygen.

Question Number : 49 Question Id : 70819118172 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gy S TREY 38 ?

Options :

70819159683, 3N ¥ TP THlID TEEIRS e,

0819150684, J TS & U Weeild, Y€ 9 UGG dgaING e

70819159685. UMY IS 8 8 e,

70819159686. S T AN S STl TR S

Question Number : 50 Question Id : 70819118173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which of the gl}-'cosidic Iinkago between galactose and glucoso is present in lactose ?

Options :
70819159687, ©-1 of galactose and C—4 of glucose

70819159688, -1 of galactose and C-6 of glucose

70819159689. C-1 of glucose and C-4 of galactose

70819159690, -1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819118173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
cidcra Hell Tefdera Sl bl elledd! DIV RS HESd g8 3E 7

Options :

70819159687, <1 of galactose ST C—4 of glucose

70819159688, C-1 of galactose T C-6 of glucose

C-1 of glucose 3T C—4 of galactose
70819159689.

C-1 of glucose 3T C-6 of galactose
70819159690.

Chemistry Section B

Section Id : 708191751

Section Number : 4



Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Online
Mandatory
10

5

20

Yes

1
7081911031

Yes

Question Number : 51 Question Id : 70819118174 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with 10 HCl

using phenolphthalein as an indicator, 17.5 mL of HCl was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next

end point. The weight percentage of Na3C03 in the mixture is

the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

. (Rounded-off to

Question Number : 51 Question Id : 70819118174 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i N Gl
PTe ISR UG 3felel NaOH 31T Na,CO, @ 04 39 o1 yem EHCIHWW

AU AU el Il iy JvArg 17.5 el HA @Ffel. @Y fgsa g g
A hel, el Mg YU 1.5 fell HA @FTel T Na,CO, 31 FHSvIRiiel AR el

e, (el [iN)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118175 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burstis . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118175 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

U1 TSN TRRAEY 35 psi 0T 27°C TIUHMIRA GG 97 %ol 3. ST 40 psi 39l
o TR Bed. W ded dEA _ °C ¥, (Gaowl quien)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 53 Question Id : 70819118176 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol L. The magnitude of AH,qg for the reaction

- 3 _ .

is ___ K]. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819118176 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a1 Hamame WS NH,CN ) 1 Siifaor SXeR Sfiidan defl s AU= - 74224
k] mol ~! aged.

T AH,qq (K]) SRS T

At 3 _ ;

3. (o] QUiihrel) (Seel a1 & WHall, R=8314 ] mol 1 K1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 54 Question Id : 70819118177 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A,B, is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given Ky, for (H,0)=0.52 K kg mol g
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118177 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A,B, &N T fgd e 1 Aelel Wied S[Ev 60% TG Fel 8. 1 wEuE
Soerdd lama K3 (ferl ame K (H,0)=052K kg mol 1) (e

pteT)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118178 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



[n basic medium {_‘r{)42 oxidises 52932 to form 5{}42 and itself changes into Cr(OH), -

The volume of 0.154 M Cr{_}f required to react with 40 mL of 0.25 M 52{']32 is

_mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819118178 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AR WA CrO,>~ & 5,055 U SMFaeden dod SO,°  Well BUTK HYal @ @
Cr(OH)y” 7 geerdr. 0154 M CrO,%” ¥ 40mL 025 M $,03° TRy quigsr aififpan
AUEel  ml Ude FPRAM @nld. (Wdo quien)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118179 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



il
For the reaction, @A +bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K
logk
1/1" —
The temperature at which the rate constant of the reaction is 10 Sl . ] K.

(Rounded-off to the nearest integer)
[Given : The rate constant of the reaction is 107> s ! at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118179 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1
nA|hB->cC|:fD%JTJﬁ1ﬁF&W€IIagkﬁ?@T Tl e Glell féelel 3Te.

Iul ; slope = —10000 K
]'l' o
104 s~ ! & sfHfhd=ar 9 ReNieEe! e 9 HE K 3
(feefel amg 500 K A9aMe 9 fReRie 10551 afe)
(Sl qulieTe)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819118180 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na, is 495.8 k] mol !, while
the electron gain enthalpy of Br is —325.0 k] mol I”"Given the lattice enthalpy
of NaBr is ~728.4 k] mol~!. The energy for the formation of NaBr ionic solid is
(=) - =10 lk] mol 1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118180 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Na (@) U Na* 319 TR 20ARI AT Sl 495.8 k] mol 1 38, T Br &1 Feldgd 1
Tl ~3250 k] mol ! &Me. 7284 k] mol ! & Wi Tl Nabr WISI feciell e
NaBr 2 &R |37 TR 3R Fal (-) ~ x107 T K mol ! a7,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 58 Question Id : 70819118181 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysisis .
(A) BF, (B) SiCl, (C) PCl; (D) SF,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118181 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

el SIUECAN ISR EU Weflcdd! sy d W& 3.
(A) BF, (B) SiCl, (© PCL

—
-
4
]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118182 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider the fol[owmg chemical reaction.

CH = cH 1) Red hot Fe tube, 873 K W
=0 T Co, HA, Al ‘

The number of sp? hybridized carbon atom(s) present in the product is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118182 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
el YNAH®  AHfHaT o=,

e 1) aeq o1t e Here1 873 K
e 2) CO, HCI, AlCl, &
TR SAETNE sp? o HraTa w=m 3R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118183 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Using the prf}vided information in the [ oﬂowing paper d'nmmatogram :

A =]
™SGolvent front
Be A
2cm
Beom
Ae : 4
2cm
b S T TTra——— W
/ i
7 = Base line
Spot

Fig : Paper chromatography for compounds A and B.
the calculated Rf value of A L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118183 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IFEGEIRIESIRCIEES
e v
Be
2ocm
5cm
_L&Ll
2ecm
______ / A
i YR 9]
1%173

A M R, URIRE deredl fHHd x10~1 3med.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 708191752
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911032
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118184 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ :N — Nsuch that f(n+1)=f(n) + f(1) V neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

20819159701 If fis onto, then f(n)=n ¥ neN



70819159702, [1s one-one

70819159703. If ¢ is onto, then fog is one-one

70819159704. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WAl f, ¢ : N — N, SN @l fin+1)=f(n)+f(1) ¥V neN 3 g % BIUE Bol (arbitrary
function) 3.

Glefl feeied] fdgHAes SV {999 9 A@ 7
Options :
20819159701, %[ & SBEH (onto) BE A, T f(n)=n, ¥V neN

70819159702, € THE—TE (one-one) Hel IS,

70819159703, 9% g & JBIEH Wl A, T fog & THN—TH Bl 8.

R fog & THNE-UH Bl A, T ¢ & TGN-TUP Ba e,
70819159704, -

Question Number : 62 Question Id : 70819118185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lines(2 — i)z = 2+ )7 and (2 + i)z + i— Nz - 4i=0, (herei¥=—1) be normal
2-iz=(@2+1) R+7z+ (-2

toacircle C.If theline iz+ T+ 1+ i=0is tangent to this circle C, then its radius is :
Options:

70819159705, 3v2



JH

(]
<
(]

70819159706.

1“”

70819159707, 22

) .
ITJ"]| -

70819159708.

Question Number : 62 Question Id : 70819118185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
WA (2 - i)z = (2 + i)z ST

@+ i)z+ (i-27-4i=0 @F2=-1)
1 Y91 U daf C T Yeld (normal) SMed. W iz + 7+ 1+ i=0 & Y0 &4 ago C A
wfEiar (tangent) I¥el, W Il B (radivs) e,

Options :

70819159705, 3v2

JH

(]
<
(]

70819159706.

1“”

70819159707, 22

) .
ITJ"]| -

70819159708.

Question Number : 63 Question Id : 70819118186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
18

Options:

70819159709, 2

70819159710, °

70819159711, %

70819159712, U

Question Number : 63 Question Id : 70819118186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QUlih ‘K’ 3T, T el 22 - 2(3k — 1) + 8k2— 7> 0 B SGH (inequality) TS x WAl R 950
R L.

Options :

R

70819159709.

70819159710.

70819159711, %

70819159712, U

Question Number : 64 Question Id : 70819118187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



b i}
If0<0,d¢ {E,x =, cos>™ 0

Lo ] e
LRI 4 1 z ;
2 p = ) sin"¢ and z= 3 cos” ™0 . sin™" ¢ then :

n=({) n=0 '

Options :

70819159713, W z=(x 1Y)z

70819159714, YV Tz=(x+y)z

70819159715, *Y Tyztzx=z

70819159716, “YZ =4

Question Number : 64 Question Id : 70819118187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% .
cos™"0 . sin"¢, Y _

x
7 .. -
e

Z n=0 n=( =0

Gl?[-l{li,dj*i%,x: ZCOS?'"U'H: lsinz”d] ftiz=

=

Options :

70819159713, YW z=(xty)z

70819159714, YW 1z=(xty)z

70819159716, V7 =4

Question Number : 65 Question Id : 70819118188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3

[f Rolle’s theorem holds for the function flx)=x ax”+bx —4, x[1, 2] with l— | =

then ordered pair (a, b) is equal to:
Options:
70819159717. k7

70819159718, > %)

70819159719. e

(-5, —8)
70819159720.

Question Number : 65 Question Id : 70819118188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
F | %“ = () o e 1 g (Rolle’s theorem) flx)=x"—ax?+bx 4, xe[1, 2] I BawwEI
\3)
qﬁ Vel T P WSl (ordered pair) (a, b) TEX _ e,

Options :

70819159717. e

70819159718, > %)

70819159719. e

(—5 —8§
70819159720.

Question Number : 66 Question Id : 70819118189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

1' 1 I 2 n B
1m = is equal to :
N —>% =

Options :

70819159721, 0

b =

70819159722.

70819159723. ©

70819159724, !

Question Number : 66 Question Id : 70819118189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819159721, 0

b3 =

70819159722.

70819159723. ©

70819159724, !



Question Number : 67 Question Id : 70819118190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the integral

di is:

Jsinl]_ain 20 (sin®0 + sin*0 + sinZ0) V2sin®0 + 3sinZ0 + 6
1 — cos20

(where c is a constant of integration)

Options :

S .
_L [9 2sin®0 — 3sin0 — 6sin?0 -‘2 F ¢
70819159725, '8 '

3

1 3
[9 Ecnsﬁl] 34:05'1!] 6(:052!]-‘2 - C

70819159726. 18

s ;
_L 11 — 18sin”0 + 9sin*0 l%irmﬁl]]z o
70819159727, 18 '
' 3
1

— {11 18cos20 + 9cos?o ZCDSE'UF F e
70819159728, 18 - '

Question Number : 67 Question Id : 70819118190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

do

. ) 2
jsinl].sﬁ‘u 20 [Einﬁl] + sin?0 - sin”0) \)'r 2sin?0 + 3sin’0 + 6
1 — cos20

a1 HPTW (integral) El @ e,

(W@ ¢ & HPpaEl AT (constant of integration) 38 )

Options:



3 .
1 [9 2sin® 0 3sint 0 6sinzl]}2 FC

70819159725, 18

3

1 3
[9 Ecr}sﬁl] 3c054l] 6c052l]-‘2 FC

70819159726. 18

' 3
1

— 1 18sin°0 + 9sin*0 Z-ainﬁlJF F ¢
70819159727, 18

' 3

1

— {11 18cos?0 + 9cos?o 2{:::}5‘6’11-‘E tc
70819159728, 18 '

Question Number : 68 Question Id : 70819118191 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
.3
The value of szell Jd;r , where [t] denotes the greatest integer = t, is :

-1
Options :

'.:- + 1
70819159729, 3

1
70819159730, 3¢

'efl

70819159731, e

e+1
70819159732, 3e




Question Number : 68 Question Id : 70819118191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9
szel-” e YR ame, S, [ ¥ ¢ b ¢ U1 o e QI (greatest
=]
integer) 9.
Options :
e+ 1
70819159729. 3

-
70819159730, ¢

'e 1

70819159731, e

e +1
70819159732, e

Question Number : 69 Question Id : 70819118192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

x - dxd y 8, then this curve also passes through the point :

x=-2
Options :
70819159733. (4 3)

70819159734. 2:3)

70819159735. ® 4)



70819159736, (4 4)

Question Number : 69 Question Id : 70819118192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W U$ 9% ARUEGT (origin) WEel MM TN TR SIURARI € (x, y) M A¥eiedl

i (tangent) @ (slope) -4 |7y i e, T & T 1T A a@
-2
CIEC

Options :
70819159733. (4 3)

70819159734, 2:9)

70819159735. (5 4)

70819159736, (4 4)

Question Number : 70 Question Id : 70819118193 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :

Options :
70819159737, (@ 7+ (y12)*=16

r — 22 AL
70819159738, (X 27+ (y—4)7=4



. AY2 AND _
70819159739, (¥ ~4)~H(y—4)"=8

M2 G
70819159740, (X ~2)=+(y—2)==12

Question Number : 70 Question Id : 70819118193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
x—y+1=0 T WAGA (3, 5) 1 oS U (image) av 3.

Options :

70819159737, (X~ 47+ (y+2)*=16

_ 2
70819159738, (¥ 2

. AY2 AND _
70819159739, (¥ ~4)"t(y—4)"=8

70819159740, (X~ 2>+ (y—2)

Question Number : 71 Question Id : 70819118194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parabola i>=6x which is perpendicular to the line 2x +y=1.
Which of the following points does NOT lie on it ?

Options :

3
70819159741. k9.

70819159742. =&t

70819159743, (& 4)



(4, 5)
70819159744,

Question Number : 71 Question Id : 70819118194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y2=6x T A& (parabola) T T WRIHI (tangent) ®Hieell ol 2u+y=1 U IWell &g
(perpendicular) 3.
el faeiedn g Yeh @ fig @ e ?

Options :

3
70819159741. ©. 3)

70819159742, (6 0)

70819159743, (> 4)

(4, 5)
70819159744,

Question Number : 72 Question Id : 70819118195 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 2 2 2

x 1 X 1 . e
If the curves, — 4 Jl_ =1 and — ’I’E = 1 intersect each other at an angle of 90°, then
a 1) C

which of the following relations is TRUE ?
Options :

70819159745, a tb=ctd
70819159746, @ b=c—d

70819159747.



i
o

ab =

=¥
=g

70819159748, @ ¢=b+d

Question Number : 72 Question Id : 70819118195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9

9 9 2
= = X 1 . 5 3
i yT:lanﬁTTl%=1%’ﬁﬁ@?ﬁmﬂ%*ﬂmwmﬁqum,ﬂiww
a i}

I HEY (relation) ¥ 318 ?

Options :

70819159745, @ tb=ctd

70819159746, @ ~b=c—d

c+d
b

ab =
70819159747. a

70819159748, @ ¢=b+d

Question Number : 73 Question Id : 70819118196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satist'}-' the equations
[+m-n=0and I>+m2-n2=0. Then the value of sinta + cos?a is :

Options :

5
70819159749, 8

70819159750.



0| W

Yy

70819159751.

|

70819159752, 4

Question Number : 73 Question Id : 70819118196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WAl o B S YUMEel S 3Me. N 6 &6 M (direction cosines) [ +m—n=0 0T
124 w2 n2=0 1 FEHI ‘Zlﬁ (satisfy) @G, T sinfa+ costa @ T R e
Options :
5
70819159749. 8
70819159750.
5
?
70819159751. =
3

70819159752, 4

Question Number : 74 Question Id : 70819118197 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The equation of the line through the point (0, 1, 2) and perpendicular to the line

- oot WU G 5 L O

2 3 2
Options :
. §y—1 z—2
70819159753, 3 4 3
A e
70819159754, 9 4 3
-
70819159755, 3 4 3
- L o
70819159756, 2 4 3

Question Number : 74 Question Id : 70819118197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(0, 1,2) 71 fogme SOmT anfor 2 = e F; Sl jl 1 IVl 79 (perpendicular) SO
ELERSLICTU e

Options :
.izy 1=z 2
70819159753, 2 4 3
x _¥ I:z 2
70819159754, 2 4 3

5
70819159755, 3 4 3



5
70819159756, 3 4 3

Question Number : 75 Question Id : 70819118198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) 1
When a missile is fired from a ship, the probability that itis intercepted is 2 and the probability

3 _
that the missile hits the target, given that it is not intercepted, is 1 [f three missiles are fired
independently from the ship, then the probability that all three hit the target, is :

Options :

i
70819159757, 27

oo |

70819159758.

0| W

708191597509.

- | 03

70819159760.

Question Number : 75 Question Id : 70819118198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uiegl Tl Welelldw- &V (missile) SFTel (fired) WId, O Vel (intercepted) o U] HI

- G, S ATV AT (arget) Y91 SR §A . G, 3 T Y T O

felel &8, OR WEaw 3 &I W69 (independently) SRTell, T Wd Tl wiafren
ARV HHedl .

Options :



i
‘-q|'_'

70819159757.

oo |

70819159758.

0| W

708191597509.

.4-_,.|-_,.;'

70819159760.

Question Number : 76 Question Id : 70819118199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax? + bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819159761, 6

70819159762, 24

=]
I3

70819159763.

5
70819159764, 216

Question Number : 76 Question Id : 70819118199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

ax?+ by +c=0 T FEHSON (quadratic equation) a, b M ¢ & TS A, o TH Bl
dF dod hoodiay fodicd. @1 FHIGUEl §HH 4o (equal roots) YTATAISE! HHII
(probability ) CIES

Options :
i1 §
70819159761, 26

s |
70819159762, 54

1

70819159763, 72

5
70819159764, 216

Question Number : 77 Question Id : 70819118200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 6 £ [0, 27] for which sin 20 + tan 26 > 0 lie in :

Options :
) [ 3w)
0% o o=
2> >
70819159765. + </ ‘ g

70819159766, 4/ (G N B T -
i ) Foe o . 7.\
gl T IW 2

70819159767. l EJ o J i 6 ;|

{“' EW U lf: i\| U Irfr, —'\| U P_'r F_"'W
70819159768, ©  */ ATl A2 )



Question Number : 77 Question Id : 70819118200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin 20+ tan 20 > 0 T FHIHIOMERT 0 € [0, 2] I W T (possible) H@ 1|
3Ted.
Options :
T ) i 3 )
0, :| L lw, —Fr|
" ~
70819159765. * = bl
f ar ) a 3 (3 114
o e L s
70819159766. 4 i ’ 4
[ ) T ) 7
70819159767. = . g
s T (o 3 i S ‘3 7))
|‘U,I|'\_J |t;'T| '\_,-'|t’|',—| UlTrT
70819159768. ! = . . = .

Question Number : 78 Question Id : 70819118201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819159769, 24

70819159770, 30

70819159771, 20



70819159772, *°

Question Number : 78 Question Id : 70819118201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(x, y, z) WIS 99 qUI$ Sl (positive integral solutions) =T TR FE&AT (total number)
e, o DI xyz=24.

Options :

70819159769, 24

70819159770, 30

70819159771.

70819159772, *°

Question Number : 79 Question Id : 70819118202 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man'’s eye is 30 (Ignore man's height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower 1s :

Options :

70819159773, 10

10(/3
70819159774, 10¥3 + 1)

70819159775, 10+/3



70819159776, 10¥3 — 1)

Question Number : 79 Question Id : 70819118202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U% A Clavell 9 FAREV $¥I0 3, To1 A g UNT U6 W9 M (uniform speed)
Wofe el U6 14 (boat) TlaR $¢ I 3. 1 ¥l < T 31for 1 AR SleAe
TUR BRI #a7d 1 (angle of depression) 30° &6, (AITEMEI Tl goi&l $Y1 (Ignore)).
20 Hehg YT YA (sailing) $edm Fa¥, i €1c B fiig 9 rgwd, e cfavan wmn ( o uaredn
TSSUTTIET &e), 3o B fdg 1 TR &R Sfa-d 9 45° 38, T B &g U clav=a Ty
UGSl 1 A1dell SR 98 (Fehara) s,

Options :

70819159773, 10

—
70819159774, 1033 + 1)

70819159775, 1043

70819159776, 10(~3 — 1)

Question Number : 80 Question Id : 70819118203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :
Options:

70819159777, = (A —= B)

70819159778, 4+ — (A v B)



70819159779, & — (A A B)

70819159780, * 7 (A< B)

Question Number : 80 Question Id : 70819118203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A— (B — A) W f99F ¥9YF (equivalent) 3.
Options :

70819159777, = (A = B)

70819159778, &4 — (A v B)

70819159779, & — (A A B)

70819159780, * 7 (A = B)
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SectionId: 708191753
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required?: Yes



Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

1

7081911033

Yes

Question Number : 81 Question Id : 70819118204 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 tan'fg]
\ L)

If A= and (I, +A) (I, A) l:{b )

tan'fg] 1]
L2/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

'ab

w, then 13(a+b?) is equal to

Question Number : 81 Question Id : 70819118204 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R

(0 tan' — | o
\2) a
ui{ A= ‘0) I (Izl A) (13 A) I = L
tan| ] '

2)

e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

b

d

], ¥ 13(a?+b?) W



Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118205 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=
(]

Let A=

B
S ]

x |, where x, y and z are real numbers such thatx+y+z > 0 and xyz=2.
Y
If A2=I3, then the value of x° 1 1,5 F2is .

]
o]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118205 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I ¥z
WA A=y z x|, Wl x, y MO z T IR WA (real numbers) IEd. TH Bl
¥y
xty+z>0 MO xyz=2 R A2=L, W+ P2+ a0 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 83 Question Id : 70819118206 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+y+2z=
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then kisequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819118206 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
kxty+2z=1
dx-y-2z=2
2x —2y—4z=3

1 FAIBY TN YUTTedl =T 3+d 98 Sabell (infinitely many solutions) #Ted, Wk aR&X

3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 84 Question Id : 70819118207 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118207 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1,2,3,4,5% 3@ ©gT 100 3107 1000 Tre SXAM TN SO0 6O T e
e,

WX STl ARIG ol WAl Tl (not allowed) 30T & 3 far 5 7 Wy (divisible)
CRIREIERH

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118208 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Al, Az, A3, ..... be squares such that for each n=1, the length of the side of A" equals the
length of diagonal of A_, . If the length of A is 12 cm, then the smallest value of n for
which area of A, is less thanone,is .



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118208 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A Ay, Ay, A, ... T IRW (squares) T80 IH $ TS n=1 WAl A, =1 Sl @il &
A, 1 U S SR HE. WX A, A Wil 12 em 3% W n d AR @ gl
(smallest value) W1 NGl A ¥ &7a 1 UL e ¥al, 3k

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819118209 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=2x+1)-3x + 2|4 r2+x-2,xcRis
not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 86 Question Id : 70819118209 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f()=2x+1|-3x+2/+x24+x-2, x € R & B T 95X fqFey (differentiable) Tl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118210 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of x° is unity and it has

(x)

extrema at y=~1and x=1.If [im —
=0

=1,then5-f(2)isequalto .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819118210 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



AT f(x) & x W 6 T PICI (degree) VNI FEUST (polynomial) e T HEY 28 71 TUid
(coefficient) TF (unity) 3T& ST x= -1 T x=1 Wl T HAA {Hal {HA (extrema) .

¥ lim 'ﬂ—:] =1, W 5 i} Y
-0 x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id

Correct Marks : 4 Wrong Marks : 0

e

: 70819118211 Question Type : SA

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.

Then Atisequalto
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819118211 Question Type : SA

W (sine) ST DT (cosine) TN Heldl JTerd, THAGIHI GY T4 T U TG (consecutive)
<M figen veMel Badrd, Sl dleld M (same) &5hd A 7 FfE® (enclose) I¥dled W

AR 9.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118212 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The locus of the point of intersection of the lines (/3 ) kx A ki 43 =0 and

ﬁx ¥ 4( \,ﬁ] k =0 is a conic, whose eccentricity 18 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819118212 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(Bl +ky - 43 =0

Ix y 4(3) k = 0 T Yur= BT 4T (point of intersection) T F1EM (locus) A (conic)
e, Il Jebgdl (eccentricity) e,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 90 Question Id : 70819118213 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

KAV A A S A A — AA A

Let a=i+2j-k b=i-jand ¢ =i~ j— k be three given vectors. If r isa
— - - — -5 3 - =

vector such thatr x a = ¢ x aandr- b =0, then r- a isequalto ________.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118213 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AWl a :; | Z;r L, b:'f ;r M ¢ = ; Eﬁ?ﬁﬁﬁﬂé? {vectnrs]i*rﬂ'éﬂ
W r AU NI WA @ r x a=cxa S r-b=0,TWr-a Wa
3e.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



